PARTS LIST

DESCRIPTION arty

SHIFTER ASS5EMELY, PRO GATE

CABLE, SHIFTER, 5'

E-CLIP, 1/4" ID

BOLT, 1/4-20 x 5/8"

NUT, NYLOCK 1/4-20

BOLT, 1/4-20 = 1-1/4"

WASHER, SPLIT LOCK 1/4"

NUT, 1/4-20

SELECTOR LEVER, CHRYSLER / AMC

CABLE BRACKET, CHRYSLER / AMC, REAR EXIT

SELECTOR LEVER, FORD C4 / C5 and C6

CABLE BRACKET, FORD C4 / C5, REAR EXIT

CABLE BRACKET, FORD C6, REAR EXIT

BOLT, 1/4-20 = 1-1/2"

BOLT, 5/16-18 x 1"

WASHER, FLAT 5/16"

SPACER, 7/16" I.D. x 1/4" L

SWIVEL, CABLE

JAM NUT, 10-32

ol L I A R S L L e L e e o R BN R R U e

PIN, COTTER 1/16" x 1"




